

Invoice

Date

11/14/2019

Bill To

Philadelphia Water Department 1101 Market St Philadelphia, PA 19107 Invoice #

13-20-04

Project

Description	Amount	
October 2019 Fire Hydrant Inspection		
Engine Labor Cost Ladder Labor Cost		118,076.98 37,071.60
**PLEASE PAY WITHIN THE TERMS.	Total	\$155,148.58

Hydrant inspections are conducted by engine companies that are minimally comprised of three firefighters and one officer (75% fire lieutenant and 25% fire captain, due to platoon schedule). This worksheet contains hydrant inspections conducted only by engine companies. Vehicle / equipment rates used in this worksheet were obtained from the FEMA Equipment Rates Schedule (local fire engine rate is based on 1500 GPM pumper).

				Labo	or			
Date of Work	Number of Employees Per Inspection	Numbers of Inspections Completed	Straight Time Hours Worked	Average Hourly Rate	Straight Time Cost	1.5X Hrs Worked	1.5X Hr Cost	Total Daily Labor Cost (USD)
10/1/19	4	44	22.0	\$147.32	\$3,241.04	0.0	\$0.00	\$3,241.04
10/2/19	4	114	57.0	\$147.32	\$8,397.24	0.0	\$0.00	\$8,397.24
10/3/19	4	42	21.0	\$147.32	\$3,093.72	0.0	\$0.00	\$3,093.72
10/4/19	4	44	22.0	\$147.32	\$3,241.04	0.0	\$0.00	\$3,241.04
10/5/19	4	33	16.5	\$147.32	\$2,430.78	0.0	\$0.00	\$2,430.78
10/6/19	4	45	22.5	\$147.32	\$3,314.70	0.0	\$0.00	\$3,314.70
10/7/19	4	63	31.5	\$147.32	\$4,640.58	0.0	\$0.00	\$4,640.58
10/8/19	4	137	68.5	\$147.32	\$10,091.42	0.0	\$0.00	\$10,091.42
10/9/19	4	97	48.5	\$147.32	\$7,145.02	0.0	\$0.00	\$7,145.02
10/10/19	4	63	31.5	\$147.32	\$4,640.58	0.0	\$0.00	\$4,640.58
10/11/19	4	84	42.0	\$147.32	\$6,187.44	0.0	\$0.00	\$6,187.44
10/12/19	4	79	39.5	\$147.32	\$5,819.14	0.0	\$0.00	\$5,819.14
10/13/19	4	73	36.5	\$147.32	\$5,377.18	0.0	\$0.00	\$5,377.18
10/14/19	4	17	8.5	\$147.32	\$1,252.22	0.0	\$0.00	\$1,252.22
10/15/19	4	72	36.0	\$147.32	\$5,303.52	0.0	\$0.00	\$5,303.52
10/16/19	4	28	14.0	\$147.32	\$2,062.48	0.0	\$0.00	\$2,062.48
10/17/19	4	15	7.5	\$147.32	\$1,104.90	0.0	\$0.00	\$1,104.90
10/18/19	4	13	6.5	\$147.32	\$957.58	0.0	\$0.00	\$957.58
10/19/19	4	25	12.5	\$147.32	\$1,841.50	0.0	\$0.00	\$1,841.50
10/20/19	4	23	11.5	\$147.32	\$1,694.18	0.0	\$0.00	\$1,694.18
10/21/19	4	1	0.5	\$147.32	\$73.66	0.0	\$0.00	\$73.66
10/22/19	4	17	8.5	\$147.32	\$1,252.22	0.0	\$0.00	\$1,252.22
10/23/19	4	24	12.0	\$147.32	\$1,767.84	0.0	\$0.00	\$1,767.84
10/24/19	4	102	51.0	\$147.32	\$7,513.32	0.0	\$0.00	\$7,513.32
10/25/19	4	121	60.5	\$147.32	\$8,912.86	0.0	\$0.00	\$8,912.86
10/26/19	4	42	21.0	\$147.32	\$3,093.72	0.0	\$0.00	\$3,093.72
10/27/19	4	16	8.0	\$147.32	\$1,178.56	0.0	\$0.00	\$1,178.56
10/28/19	4	79	39.5	\$147.32	\$5,819.14	0.0	\$0.00	\$5,819.14
10/29/19	4	42	21.0	\$147.32	\$3,093.72	0.0	\$0.00	\$3,093.72
10/30/19	4	48	24.0	\$147.32	\$3,535.68	0.0	\$0.00	\$3,535.68
				To	otal Monthly	Labor Co	st (USD)	\$118,076.98

Hydrant inspections are conducted by ladder companies that are minimally comprised of four firefighters and one officer (75% fire lieutenant and 25% fire captain, due to platoon schedule). This worksheet contains hydrant inspections conducted only by ladder companies. Vehicle / equipment rates used in this worksheet were obtained from the FEMA Equipment Rates Schedule (local fire ladder truck rate is based on the 75-foot ladder truck).

				Labor						
Date of Work	Number of Employees Per Inspection	Numbers of Inspections Completed	Straight Time Hours Worked	Average Hourly Rate	Straight Time Cost	1.5X Hrs Worked	1.5X Hr Cost	Total Daily Labor Cost (USD)		
10/8/19	5	17	8.5	\$182.17	\$1,548.45	0.0	\$0.00	\$1,548.45		
10/9/19	5	40	20.0	\$182.17	\$3,643.40	0.0	\$0.00	\$3,643.40		
10/10/19	5	14	7.0	\$182.17	\$1,275.19	0.0	\$0.00	\$1,275.19		
10/11/19	5	30	15.0	\$182.17	\$2,732.55	0.0	\$0.00	\$2,732.55		
10/14/19	5	52	26.0	\$182.17	\$4,736.42	0.0	\$0.00	\$4,736.42		
10/15/19	5	45	22.5	\$182.17	\$4,098.83	0.0	\$0.00	\$4,098.83		
10/17/19	5	35	17.5	\$182.17	\$3,187.98	0.0	\$0.00	\$3,187.98		
10/18/19	5	13	6.5	\$182.17	\$1,184.11	0.0	\$0.00	\$1,184.11		
10/22/19	5	61	30.5	\$182.17	\$5,556.19	0.0	\$0.00	\$5,556.19		
10/24/19	5	100	50.0	\$182.17	\$9,108.50	0.0	\$0.00	\$9,108.50		
	Total Monthly Labor Cost (USD) \$37,071.60									



Invoice

Date

9/17/2019

Philadelphia Water Department 1101 Market St Philadelphia, PA 19107 Invoice #

13-20-01

Project

Description	Amount	
July 2019 Fire Hydrant Inspection		
Engine Labor Cost Ladder Labor Cost		03.42
**PLEASE PAY WITHIN THE TERMS.	Total \$297,	630.78

PFD Engine Company Costs Month of Work: July 2019

Brief Description of Work

Hydrant inspections that are conducted by Engine companies are comprised of three Fire Fighters and one Lieutenant. This worksheet contains hydrant inspections conducted only by Engine companies. Vehicle / equipment rates used in this worksheet were obtained from the FEMA Equipment Rates Schedule.

				Lal	bor					
Date of Work	Number of Employees Per Inspection	Numbers of Inspections Completed	Straight Time Hours Worked	Average Hourly Rate	Straight Time Cost	1.5X Hrs Worked	1.5X Hr Cost	Total Daily Labor Cost (USD)		
7/1/19	4	236	118.0	\$147.32	\$17,383.76	0.0	\$0.00	\$17,383.76		
7/2/19	4	123	61.5	\$147.32	\$9,060.18	0.0	\$0.00	\$9,060.18		
7/3/19	4	254	127.0	\$147.32	\$18,709.64	0.0	\$0.00	\$18,709.64		
7/4/19	4	267	133.5	\$147.32	\$19,667.22	0.0	\$0.00	\$19,667.22		
7/5/19	4	113	56.5	\$147.32	\$8,323.58	0.0	\$0.00	\$8,323.58		
7/6/19	4	50	25.0	\$147.32	\$3,683.00	0.0	\$0.00	\$3,683.00		
7/7/19	4	60	30.0	\$147.32	\$4,419.60	0.0	\$0.00	\$4,419.60		
7/8/19	4	144	72.0	\$147.32	\$10,607.04	0.0	\$0.00	\$10,607.04		
7/9/19	4	220	110.0	\$147.32	\$16,205.20	0.0	\$0.00	\$16,205.20		
7/10/19	4	79	39.5	\$147.32	\$5,819.14	0.0	\$0.00	\$5,819.14		
7/11/19	4	68	34.0	\$147.32	\$5,008.88	0.0	\$0.00	\$5,008.88		
7/12/19	4	127	63.5	\$147.32	\$9,354.82	0.0	\$0.00	\$9,354.82		
7/13/19	4	31	15.5	\$147.32	\$2,283.46	0.0	\$0.00	\$2,283.46		
7/14/19	4	19	9.5	\$147.32	\$1,399.54	0.0	\$0.00	\$1,399.54		
7/15/19	4	43	21.5	\$147.32	\$3,167.38	0.0	\$0.00	\$3,167.38		
7/16/19	4	155	77.5	\$147.32	\$11,417.30	0.0	\$0.00	\$11,417.30		
7/17/19	4	67	33.5	\$147.32	\$4,935.22	0.0	\$0.00	\$4,935.22		
7/18/19	4	80	40.0	\$147.32	\$5,892.80	0.0	\$0.00	\$5,892.80		
7/19/19	4	61	30.5	\$147.32	\$4,493.26	0.0	\$0.00	\$4,493.26		
7/20/19	4	16	8.0	\$147.32	\$1,178.56	0.0	\$0.00	\$1,178.56		
7/21/19	4	24	12.0	\$147.32	\$1,767.84	0.0	\$0.00	\$1,767.84		
7/22/19	4	106	53.0	\$147.32	\$7,807.96	0.0	\$0.00	\$7,807.96		
7/23/19	4	93	46.5	\$147.32	\$6,850.38	0.0	\$0.00	\$6,850.38		
7/24/19	4	121	60.5	\$147.32	\$8,912.86	0.0	\$0.00	\$8,912.86		
7/25/19	4	65	32.5	\$147.32	\$4,787.90	0.0	\$0.00	\$4,787.90		
7/26/19	4	29	14.5	\$147.32	\$2,136.14	0.0	\$0.00	\$2,136.14		
7/27/19	4	52	26.0	\$147.32	\$3,830.32	0.0	\$0.00	\$3,830.32		
7/28/19	4	98	49.0	\$147.32	\$7,218.68	0.0	\$0.00	\$7,218.68		
7/29/19	4	185	92.5	\$147.32	\$13,627.10	0.0	\$0.00	\$13,627.10		
7/30/19	4	150	75.0	\$147.32	\$11,049.00	0.0	\$0.00	\$11,049.00		
7/31/19	4	201	100.5	\$147.32	\$14,805.66	0.0	\$0.00	\$14,805.66		
	Total Monthly Labor Cost (USD)									

Hydrant inspections that are conducted by Ladder companies are comprised of four Fire Fighters and one Lieutenant. This worksheet contains hydrant inspections conducted only by Engine companies. Vehicle / equipment rates used in this worksheet were obtained from the FEMA Equipment Rates Schedule.

				Labo	or					
Date of Work	Number of Employees Per Inspection	Numbers of Inspections Completed	Straight Time Hours Worked	Average Hourly Rate	Straight Time Cost	1.5X Hrs Worked	1.5X Hr Cost	Total Daily Labor Cost (USD)		
7/2/19	5	33	16.5	\$182.17	\$3,005.81	0.0	\$0.00	\$3,005.81		
7/3/19	5	50	25.0	\$182.17	\$4,554.25	0.0	\$0.00	\$4,554.25		
7/4/19	5	31	15.5	\$182.17	\$2,823.64	0.0	\$0.00	\$2,823.64		
7/5/19	5	52	26.0	\$182.17	\$4,736.42	0.0	\$0.00	\$4,736.42		
7/6/19	5	10	5.0	\$182.17	\$910.85	0.0	\$0.00			
7/7/19	5	58	29.0	\$182.17	\$5,282.93	0.0	\$0.00	. ,		
7/8/19	5	22	11.0	\$182.17	\$2,003.87	0.0	\$0.00	. ,		
7/9/19	5	21	10.5	\$182.17	\$1,912.79	0.0	\$0.00	\$1,912.79		
7/10/19	5	23	11.5	\$182.17	\$2,094.96	0.0	\$0.00	\$2,094.96		
7/11/19	5	25	12.5	\$182.17	\$2,277.13	0.0	\$0.00	\$2,277.13		
7/14/19	5	36	18.0	\$182.17	\$3,279.06	0.0	\$0.00	\$3,279.06		
7/15/19	5	15	7.5	\$182.17	\$1,366.28	0.0	\$0.00	\$1,366.28		
7/16/19	5	20	10.0	\$182.17	\$1,821.70	0.0	\$0.00	\$1,821.70		
7/17/19	5	1	0.5	\$182.17	\$91.09		\$0.00	\$91.09		
7/25/19	5	15	7.5	\$182.17	\$1,366.28	0.0	\$0.00	\$1,366.28		
7/27/19	5	17	8.5	\$182.17	\$1,548.45	0.0	\$0.00	\$1,548.45		
7/28/19	5	61	30.5	\$182.17	\$5,556.19	0.0	\$0.00	. ,		
7/29/19	5	34	17.0	\$182.17	\$3,096.89	0.0	\$0.00	\$3,096.89		
7/30/19		1	0.5	\$182.17	\$91.09		\$0.00	'		
7/31/19	5	44	22.0	\$182.17	\$4,007.74	0.0	\$0.00	\$4,007.74		
	Total Monthly Labor Cost (USD)									



Invoice

Date

9/17/2019

Bill To

Philadelphia Water Department 1101 Market St Philadelphia, PA 19107 Invoice #

13-20-02

Project

Description	Amount	
August 2019 Fire Hydrant Inspection		
Engine Labor Cost Ladder Labor Cost	1	34,134.86 1,093.02
**PLEASE PAY WITHIN THE TERMS.	Total \$1	135,227.88

PFD Engine Company Costs Month of Work: August 2019

Brief Description of Work

Hydrant inspections are conducted by engine companies that are minimally comprised of three firefighters and one officer (75% fire lieutenant and 25% fire captain, due to platoon schedule). This worksheet contains hydrant inspections conducted only by engine companies. Vehicle / equipment rates used in this worksheet were obtained from the FEMA Equipment Rates Schedule (local fire engine rate is based on 1500 GPM pumper).

	Labor									
Date of Work	Number of Employees Per Inspection	Numbers of Inspections Completed	Straight Time Hours Worked	Average Hourly Rate	Straight Time Cost	1.5X Hrs Worked	1.5X Hr Cost	Total Daily Labor Cost (USD)		
8/1/19	4	41	20.5	\$147.32	\$3,020.06	0.0	\$0.00	\$3,020.06		
8/2/19	4	41	20.5	\$147.32	\$3,020.06	0.0	\$0.00	\$3,020.06		
8/3/19	4	44	22.0	\$147.32	\$3,241.04	0.0	\$0.00	\$3,241.04		
8/4/19	4	77	38.5	\$147.32	\$5,671.82	0.0	\$0.00	\$5,671.82		
8/5/19	4	63	31.5	\$147.32	\$4,640.58	0.0	\$0.00	\$4,640.58		
8/6/19	4	85	42.5	\$147.32	\$6,261.10	0.0	\$0.00	\$6,261.10		
8/7/19	4	82	41.0	\$147.32	\$6,040.12	0.0	\$0.00	\$6,040.12		
8/8/19	4	238	119.0	\$147.32	\$17,531.08	0.0	\$0.00	\$17,531.08		
8/9/19	4	164	82.0	\$147.32	\$12,080.24	0.0	\$0.00	\$12,080.24		
8/10/19	4	60	30.0	\$147.32	\$4,419.60	0.0	\$0.00	\$4,419.60		
8/11/19	4	34	17.0	\$147.32	\$2,504.44	0.0	\$0.00	\$2,504.44		
8/12/19	4	70	35.0	\$147.32	\$5,156.20	0.0	\$0.00	\$5,156.20		
8/13/19	4	47	23.5	\$147.32	\$3,462.02	0.0	\$0.00	\$3,462.02		
8/14/19	4	18	9.0	\$147.32	\$1,325.88	0.0	\$0.00	\$1,325.88		
8/15/19	4	82	41.0	\$147.32	\$6,040.12	0.0	\$0.00	\$6,040.12		
8/16/19	4	49	24.5	\$147.32	\$3,609.34	0.0	\$0.00	\$3,609.34		
8/17/19	4	37	18.5	\$147.32	\$2,725.42	0.0	\$0.00	\$2,725.42		
8/18/19	4	57	28.5	\$147.32	\$4,198.62	0.0	\$0.00	\$4,198.62		
8/19/19	4	7	3.5	\$147.32	\$515.62	0.0	\$0.00	\$515.62		
8/20/19	4	13	6.5	\$147.32	\$957.58	0.0	\$0.00	\$957.58		
8/21/19	4	21	10.5	\$147.32	\$1,546.86	0.0	\$0.00	\$1,546.86		
8/22/19	4	62	31.0	\$147.32	\$4,566.92	0.0	\$0.00	\$4,566.92		
8/23/19	4	21	10.5	\$147.32	\$1,546.86	0.0	\$0.00	\$1,546.86		
8/24/19	4	12	6.0	\$147.32	\$883.92	0.0	\$0.00	\$883.92		
8/25/19	4	29	14.5	\$147.32	\$2,136.14	0.0	\$0.00			
8/26/19	4	34	17.0	\$147.32	\$2,504.44	0.0	\$0.00	\$2,504.44		
8/27/19	4	68	34.0	\$147.32	\$5,008.88	0.0	\$0.00	\$5,008.88		
8/28/19	4	84	42.0	\$147.32	\$6,187.44	0.0	\$0.00	\$6,187.44		
8/29/19	4	57	28.5	\$147.32	\$4,198.62	0.0	\$0.00	\$4,198.62		
8/30/19	4	80	40.0	\$147.32	\$5,892.80	0.0	\$0.00	\$5,892.80		
8/31/19	4	44	22.0	\$147.32	\$3,241.04	0.0	\$0.00	\$3,241.04		
	Total Monthly Labor Cost (USD)									

Hydrant inspections are conducted by ladder companies that are minimally comprised of four firefighters and one officer (75% fire lieutenant and 25% fire captain, due to platoon schedule). This worksheet contains hydrant inspections conducted only by ladder companies. Vehicle / equipment rates used in this worksheet were obtained from the FEMA Equipment Rates Schedule (local fire ladder truck rate is based on the 75-foot ladder truck).

				Labor				
Date of Work	Number of Employees Per Inspection	Numbers of Inspections Completed	Straight Time Hours Worked	Average Hourly Rate	Straight Time Cost	1.5X Hrs Worked	1.5X Hr Cost	Total Daily Labor Cost (USD)
8/1/19	5	9	4.5	\$182.17	\$819.77	0.0	\$0.00	\$819.77
8/2/19	5	1	0.5	\$182.17	\$91.09	0.0	\$0.00	\$91.09
8/12/19	5	1	0.5	\$182.17	\$91.09	0.0	\$0.00	\$91.09
8/13/19	5	1	0.5	\$182.17	\$91.09	0.0	\$0.00	\$91.09
	\$1,093.02							



Invoice

Date

10/24/2019

Bill To

Philadelphia Water Department 1101 Market St Philadelphia, PA 19107 Invoice #

13-20-03

Project

Description	A	mount
September 2019 Fire Hydrant Inspection		
Engine Labor Cost Engine Labor Cost		280,865.58 18,490.26
**PLEASE PAY WITHIN THE TERMS.	Total	\$299,355.84

PFD Engine Company Costs Month of Work: September 2019

Brief Description of Work

Hydrant inspections are conducted by engine companies that are minimally comprised of three firefighters and one officer (75% fire lieutenant and 25% fire captain, due to platoon schedule). This worksheet contains hydrant inspections conducted only by engine companies. Vehicle / equipment rates used in this worksheet were obtained from the FEMA Equipment Rates Schedule (local fire engine rate is based on 1500 GPM pumper).

	Labor									
Date of Work	Number of Employees Per Inspection	Numbers of Inspections Completed	Straight Time Hours Worked	Average Hourly Rate	Straight Time Cost	1.5X Hrs Worked	1.5X Hr Cost	Total Daily Labor Cost (USD)		
9/1/19	4	108	54.0	\$147.32	\$7,955.28	0.0	\$0.00	\$7,955.28		
9/2/19	4	24	12.0	\$147.32	\$1,767.84	0.0	\$0.00	\$1,767.84		
9/3/19	4	55	27.5	\$147.32	\$4,051.30	0.0	\$0.00	\$4,051.30		
9/4/19	4	163	81.5	\$147.32	\$12,006.58	0.0	\$0.00	\$12,006.58		
9/5/19	4	96	48.0	\$147.32	\$7,071.36	0.0	\$0.00	\$7,071.36		
9/6/19	4	34	17.0	\$147.32	\$2,504.44	0.0	\$0.00	\$2,504.44		
9/7/19	4	64	32.0	\$147.32	\$4,714.24	0.0	\$0.00	\$4,714.24		
9/8/19	4	32	16.0	\$147.32	\$2,357.12	0.0	\$0.00	\$2,357.12		
9/9/19	4	137	68.5	\$147.32	\$10,091.42	0.0	\$0.00	\$10,091.42		
9/10/19	4	115	57.5	\$147.32	\$8,470.90	0.0	\$0.00			
9/11/19	4	150	75.0	\$147.32	\$11,049.00	0.0	\$0.00	\$11,049.00		
9/12/19	4	373	186.5	\$147.32	\$27,475.18	0.0	\$0.00	\$27,475.18		
9/13/19	4	273	136.5	\$147.32	\$20,109.18	0.0	\$0.00	\$20,109.18		
9/14/19	4	103	51.5	\$147.32	\$7,586.98	0.0	\$0.00	\$7,586.98		
9/15/19	4	94	47.0	\$147.32	\$6,924.04	0.0	\$0.00	\$6,924.04		
9/16/19	4	120	60.0	\$147.32	\$8,839.20	0.0	\$0.00	\$8,839.20		
9/17/19	4	77	38.5	\$147.32	\$5,671.82	0.0	\$0.00	\$5,671.82		
9/18/19	4	122	61.0	\$147.32	\$8,986.52	0.0	\$0.00	\$8,986.52		
9/19/19	4	81	40.5	\$147.32	\$5,966.46	0.0	\$0.00	\$5,966.46		
9/20/19	4	86	43.0	\$147.32	\$6,334.76	0.0	\$0.00	\$6,334.76		
9/21/19	4	57	28.5	\$147.32	\$4,198.62	0.0	\$0.00	\$4,198.62		
9/22/19	4	175	87.5	\$147.32	\$12,890.50	0.0	\$0.00	\$12,890.50		
9/23/19	4	112	56.0	\$147.32	\$8,249.92	0.0	\$0.00	\$8,249.92		
9/24/19	4	217	108.5	\$147.32	\$15,984.22	0.0	\$0.00	\$15,984.22		
9/25/19	4	184	92.0	\$147.32	\$13,553.44	0.0	\$0.00	\$13,553.44		
9/26/19	4	234	117.0	\$147.32	\$17,236.44	0.0	\$0.00	\$17,236.44		
9/27/19	4	64	32.0	\$147.32	\$4,714.24	0.0	\$0.00	\$4,714.24		
9/28/19	4	260	130.0	\$147.32	\$19,151.60	0.0	\$0.00	\$19,151.60		
9/29/19	4	110	55.0	\$147.32	\$8,102.60	0.0	\$0.00	\$8,102.60		
9/30/19	4	93	46.5	\$147.32	\$6,850.38	0.0	\$0.00	\$6,850.38		
	4		0.0	\$147.32	\$0.00	0.0	\$0.00	\$0.00		
		-			To	otal Monthly Lab	oor Cost (USD)	\$280,865.58		

PFD Ladder Company Costs Month of Work: September 2019

Brief Description of Work

Hydrant inspections are conducted by ladder companies that are minimally comprised of four firefighters and one officer (75% fire lieutenant and 25% fire captain, due to platoon schedule). This worksheet contains hydrant inspections conducted only by ladder companies. Vehicle / equipment rates used in this worksheet were obtained from the FEMA Equipment Rates Schedule (local fire ladder truck rate is based on the 75-foot ladder truck).

Labor								
Date of Work	Number of Employees Per Inspection	Numbers of Inspections Completed	Straight Time Hours Worked	Average Hourly Rate	Straight Time Cost	1.5X Hrs Worked	1.5X Hr Cost	Total Daily Labor Cost (USD)
9/7/19	5	37	18.5	\$182.17	\$3,370.15	0.0	\$0.00	\$3,370.15
9/13/19	5	13	6.5	\$182.17	\$1,184.11	0.0	\$0.00	\$1,184.11
9/15/19	5	31	15.5	\$182.17	\$2,823.64	0.0	\$0.00	\$2,823.64
9/16/19	5	29	14.5	\$182.17	\$2,641.47	0.0	\$0.00	\$2,641.47
9/17/19	5	18	9.0	\$182.17	\$1,639.53	0.0	\$0.00	\$1,639.53
9/23/19	5	33	16.5	\$182.17	\$3,005.81	0.0	\$0.00	\$3,005.81
9/24/19	5	17	8.5	\$182.17	\$1,548.45	0.0	\$0.00	\$1,548.45
9/25/19	5	18	9.0	\$182.17	\$1,639.53	0.0	\$0.00	\$1,639.53
9/26/19	5	7	3.5	\$182.17	\$637.60	0.0	\$0.00	\$637.60
Total Monthly Labor Cost (USD)								\$18,490.26